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7"01
Intro

Today we will 7"pa learn 3™ 97 of 77730 noon
Some of the topics we will learn about include.

99PN

A solar year of 365 days is divided into four segments
known as moipn, seasons. The duration of each 19N is 91
days, and they begin every three months:

»wn nowpn, fall

N2V NOWPN, winter

191 oW, spring

NP0 DO, summer

The Gemara cites five opinions regarding the extent of
the delayed noypn for which a 112y is required, which
depends on two factors;

Whether

WA 9PN PV AN O

The entire ma10 TY17 5N, from *3wn 1"v and on, must be in
the new nowpn,

OR

AWTN 9PN 13’V AN N3PH

Only a portion of Chol Hamoed, even the last day x”>
~wn, must be in the new nopn.

And whether

S nmn nopn o

The day in which the new nowpn falls is part of the new
99PN

OR

I 19PN DY

The day in which the new nowpn falls, is part of the old
o3P,

The Machlokes pynw 2m nmiv a7 regarding

DIPT NYHO

The number of judges required to perform 71>, to place
their hands on the head of the Korban 1123 bw 927 05w 790,

)2 DIPT NYHY’

Three judges are required to give ordination to a scholar.
P

mMoIP YT 7RY RMWI 5 am)

They give him the title of Rebbe, and they give him
permission to decide monetary cases that pertain to
penalties.
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noPN

The duration of eachnomn is 91 days,
and they begin every three months:

nwn nopn, fall

|V NOIPN, Spring
TIDN NDIPN, summer

AN NXpn
1°»2
NWTN NDIPN2

1°va
NWTN NDIPN2

nowpn v
g~}

noIpPN av
5Nnn
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So let'sreview ...

The Braisa in X" q7 taught

0127 b Yy

MW IR PV

Bais Din establishes a leap year for three primary reasons;
one of them is

ompNn Y

If the nowpn would end late;

For example, n nowpn, the summer season, would
extend past the beginning of »ywn into Sukkos;

That would be a reason to establish a leap year.

The Gemara proceeds with a Machlokes as to how late the
199N must be to require a leap year;

And 5Ripw R 7N 27 says the Machlokes is as follows:
MW PR PID PR

WTIN YW 727 70N 19N AR "R ROR

We do not establish a leap year unless 1n noypn extends
into most of wn.

WIS 727 N

7 27 holds

DY VY NVWw

If 0 nowpn would extend 16 days into *wn, more than
half of the month, until »3wn v, then we establish a leap
year; but if it is less than 16 days we do not establish a leap
year.

While *or '27 holds

DY DV TNR

If on nowpn would extend 21 days into ™wn, a significant
majority of the month, until 3wn X", then we establish a
leap year; but if it is less than 21 days we do not establish a
leap year.

And the Gemara, at first, explains their Machlokes as
follows:

They both hold

Snnn nowpn or

The day of the noypn is considered part of the new nowpn.
And they both agree that we derive from the following
Pasuk;

IR NOIPN QORI AN

This Pasuk refers to m21o Tvn S0 when oo, gathering,
is permitted, and requires that Chol Hamoed Sukkos must
be in the new »wn nowpn.

However, they disagree as follows:

A7 27 holds

iaiakablivigeRiga i) ki)

The entire Chol Hamoed, from *7wn 1”0 and on, must be in
the new nowpn. Therefore, if the new nowpn falls out on v
»wn we must establish a leap year, because the first day of
Chol Hamoed, "wn 1”0, would be in the old 19ypn.

DafHachaim.org

)4’/’”713

0”27 NWHYW Sy
MWD NR 129N

Bais Din establishes a leap year for three primary reasons;
one of them s

NDIPNN Y

For example, non noipn, the summer season, would
extend past the beginning of nwn into Sukkos;
That would be a reason to establish a leap year.

How late must the o) be o require o &ap year,
Jepl e 937
MWD DR 1PI2YN PR
NP0N NDIPN NN I”R RHR
VTN YW NaNn

We do not establish a leap year unless non nopn extends
into most of Hwn.

TN bw nan o
o)’ P D3/’ P
D) DMIWD) TNN D) YWD NYW

Ifnpn nopn would extend Ifnpn nopn would extend
21 days into nwn, 16 days into nwn,

a significant majority of the more than half of the
month, untilnwn k", month, untilnwn1"p,
then we establish then we establish
a leap year. a leap year.

both hold
2nnn hopn or
The day of the nowpn is considered part of the new nop.
And z%e?/ both agree
We derive this from the Pasuk;
S5 MY 9 oRE AN
This refers to m2p Tvvn 5N when DN is permitted,

and requires that Chol Hamoed Sukkos
must be in the new »wn nomn.

However, 7%4?/ /M?fw M//ﬂ%wj/. .

() D7/’ PI
]2 AN NXPY J9D2 2N D1

NYTN NDIPN2 NYTNH NDIPN2

Only part of Chol Hamoed, The entire Chol Hamoed,
even if only the last day mwn R", frommwn1'v and on,
must be in the new nop. must be in the new nop.

Therefore, only if thenewnopn  Therefore, if the new nopn

falls out onmwn 2", the day of falls out onmHwn 1
myp 0w, we establishaleap  we must make a leap year,
year, because the entire Chol because the first day
Hamoed from1"v untiln"> of Chol Hamoed, nwn 1",
would be in the old nopn. would be in the old nopn.
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While 'o» »27 holds

WM 19PN 1Y 3N NP

Only a portion of Chol Hamoed, even if only the last day
Mwn X", must be in the new nowpn.

Therefore, only if the new 19371 falls out on *vwn 2”5, the
day of naxy "W, we establish a leap year, because the
entire Chol Hamoed from 1”v until X”> would be in the old
nowpn. However, if the new nowpn falls out earlier during
Chol Hamoed, anywhere from "0 until X5, we do not
establish a leap year, because part of Chol Hamoed would
be in the new noypn.

The Gemara however proves from two Breisos that ’27
777’s opinion is different than the one just cited by 17
SRIDW IR 71N, and there are actually five opinions in the
following Braisa:

1.

The xnp RN says

73V DR PO PR

WTIN SW 1217 10N 19PN AN "R ROR
DY WY WV WA SW 1217 At

Because, as explained earlier, he holds
aPiakatbibl

2.

AT 27 says

VNN M7 NY

DOy D WINA MT O NW D)

If »n nowpn would extend 20 days until “wn 5,
two-thirds of the month, and *ywn nopn would start on X"
»wn, only then do we establish a leap year, because he
holds

19230 N3Pn

We only need part of Chol Hamoed to be in the new nowpn;
And

RlalP R ipiskaly

The day of the new 197pn is part of the old nowpn;
Therefore, since wn K", the last day of Chol Hamoed, is
still part of the old nopn, there is no »n Nxp» in the new
oW,

However, if "vwn nowpn falls earlier, anywhere from 170 till
>, we do not establish a leap year, because there is an nxp»
in the new nopn.

DafHachaim.org

The Gemara however provey /mm/ two Breisos
that >33 'y gpinion i /%wem‘
than the one just cited é%/ Jopl i 3 ),

Y
T
MWD NR PI2AYN PR

N7°0N NDIPN NN’N "R KON

WTIN YW 1

WTN YW 1217 NNMN
oy VY NVY
Because, as explained earlier, he holds

JD2 2N M1d
2

D7/’ NI

wWTIN2 M7 'NWY
WTN2 MT? YNW AN
=] e
Ifnon nopn would extend 20 days until nwn’>,
two-thirds of the month,
and »wn nopn would start onwn R,
only then do we establish a leap year,

because he holds
12 NOIPN DY ]2’D2 2D NXPH

The day of the new nopn We only need
is part of the old nowm; part of Chol Hamoed
to be in the new nop».

Therefore, since wn N"> - the last day of Chol Hamoed,
is still part of the old nomn,
there is no an n¥py in the new nopn.

However, if nwn nopn falls earlier, anywhere from1"p till >,
we do not establish a leap year,
because there is an nepy in the new nopy.
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3.
Oy ’17 says
noon 2105 WY MUY rawnn 3
PIavn
. . 0/’ 797
As Rashi explains; e

If nav nowpn, the winter season, would extend 16 days until
1911”0 and 101 Nopn would begin on 10’11, then later on
in the fall, mn nowpn would extend till »wn X" and nopn
»wn would begin on Mwn 1”>;

Only then do we establish a leap year, because he holds
1PYIIN NIPN

And

Snnm 7owpn or

And in this case, there would be no mo Tvwn M at all in
the new nowpn.

However,

195 Y VY

120D PR

If mn nowpn would only extend 16 days or more, from 1”0
till X3 into *ywn, we do not establish a leap year, because
there is xn N3P in the new nopN.
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NODN 721DYH VWY VW 12VnNN
PIaYn
Ay Rashic explaing;
ot ropn, the winter season, would extend 16 dagy
wntil /0y j"/ and 15) POPP /4 éefim o oy ),",’
thew liter in f/L&M S IO would exttend tl gy &>
and 7 PO 4 é%w o by 5",

Only then do we establish a leap year,

]2°D2 2N HXPH

S5nnp nompn b»

And in this case, there would be no Tvwn bin
mop at all in the new N,

HOW@U@V,

aNn 719 VY NVWY
P20 PR
Ifnpn nopn would only extend 16 days or more,

from1"p till R"> into nwn, we do not establish a leap year,
because there is an n¥py in the new nop.
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4.

PYHW 17 says

P20 307 2395 TVY VW R

If on nowpn would extend 16 days until wn 1”0, we do
establish a leap year, because both py»w 17 and the Xin
NP agree that

PYaan

However, they disagree in whether we say

Snnn 7owpn or

And therefore, if the new 19371 begins on 1”0

PI2VD PR

Because there is 301 0 in the new nown

OR we say

plalbiaialipalialy

And therefore if the new 1931 begins on 1”0

PI201

Because there is no xn 753 in the new nopn since "0 is
still part of the old 19ypn.

MION R
It is not clear who holds what.

5.

DR OINR

132V

DY WY AYIIR 10D A0

Even if the 19970 would merely extend 14 days into the
month, less than half a month, even then we establish a
leap year.

Dedicated By:
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4

S )
1°72Y1 2NN 2199 WY NVWYW IR
Ifnon nopn would extend 16 days until wwn 1",

we do establish a leap year,
because both pypw 127 and the 8np Ran agree that

J9'02 3N iPD1d

However, f/wy /Ww in whether we say. .

012 NDIPH DY b’DDD nNd2Iph DY
And therefore And therefore,
if the new nopn beginsont'd  if the new nopn begins ont'v
L2 PI2avY PN
because there is no an m5> because there is an mb>
in the new nopn since 1'v in the new nopn
is still part of the old nown.

MDY RH)

It is not clear who holds what.

S5

PIMIE PINE
17290 10D
01 WY AY2IR 101V NN

Even if the nopn would only extend 14 days into the month,
less than half a month,
even then we establish a leap year.
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2RI PITND

And the Gemara offers two explanations

1.

PN¥’ 2792 5RIDW 27 say’s

R refer to 101 nowpn and they hold that the new 719370 must
fall during the days of the new moon which extends until 7”.
Therefore, if the old nav nopn extends until 7, and the new
71 Nopn begins on 1o, we establish a leap year, because "0 is
after ma> wvirm;

And the Pasuk states

DIARD VI DR MOV

70PN YW AR Y

1O WIN1 NPW

2.

R127says

R refer to »wn nowpn and they hold

PORI O YA IN D

The entire Sukkos including YomTov, from »wn1"v and on,
must be in the new 199pn, and accordingly the Pasuk

WA NoPN PORA AN

Does not refer to Chol Hamoed but rather to

97O 912 X270

The YomTov of Sukkos which takes place during the gathering
season.

The Gemara returns to explaining the Mishnah at the beginning
of the Perek in which there is a Machlokes regarding

D3Pt NOMO

The number of judges required to perform 7121, to place their
hands on the head of the Korban 728 Sw 727 0bvn 19:

YW 37 holds

DR N0

nobwa

Three judges are required to perform 7>1o.

While 717 27 holds

D3P} NYMO

nwnna

Five judges are required to perform n>no.

And the Gemara explains that they disagree in the understand-
ing of the following Pasuk:

997 WRI DY 0T DR ATV Rzl lklsle)]

The word n7vi teaches

aIVIW PIND

The n>»o must be performed by the superior judges of the
T T

777 27 holds

D’V 10001

R RAP

The two pluralized words 1o»o1 and 3pt each teach two judges,
and

TAR T OP5Y PO MHPW "2 PR

Since a Bais Din cannot consist of an even number, another man
is added and

PN IR

While py»w 27 holds

DI Pt

The pluralized word *3p1 teaches two judges and

TAR TV 75D PO P PT A PRI

VS 1R 7

And the word

10001

ond MY YN

It is needed to teach the actual 7>1o, and it is not superfluous for
the count of judges.

DafHachaim.org

1

pn3 P R é///é hY)
DINR refer to |0 NOIPN
and they hold that the new nopn must fall during the days
of the new moon which extends until 7".

Therefore, if the old nav nopn extends until 7,
and the new jpn nopn begins on1"v, we establish a leap year,
because1"v is after naab wimn;

And the Pasuk states
=ENS P N
/) Cpp £ 20/ ﬁ ARt YWl

2

&
DINR refer to MWD NOIYN and they hold
PRI V71 12192 AN PN
The entire Sukkos including YomTov, frommwn1"v and on,
must be in the new nopn, and accordingly the Pasuk

ikl e ki
oot //\/)’p AP &p

The YomTov of Sukkos which takes place
during the gathering season.

Y

DYDY N9
The number of judges required to perform n>mp,

to place their hands on the head of the Korban
320% 5w 227 DbV HO:

D7/’ 7RI
(=jp ol gingiale
N2

S )
D3P N
b

~g N B o N S "3 12101

DYl 301N

D7/’ 7RI

ﬁp’*’ f=yalol

V2
vipt 1omo
3)/0/(/5)[)/,37\/

/ g y) /
“ 2 ¢ Ug 70 teach 200,

2 3 2

200 o 19D
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A AT M0

The Gemara concludes with a Braisa;

32 DI NYHOI PO RIN

As 130 27 explains

DIPY DM ND

’10 OO

Three judges are required give 12'»o to a scholar.
237 P

Mo YT TR> RMWI D 2

They give him the title of Rebbe, and they give him
permission to decide monetary cases that pertain to
penalties.

As the Gemara in ‘297 explained

mHam m> i

PRI

All monetary cases that do not pertain to loans, but also
include moIp, penalties, require expert judges who have
no>1o. However,

MM MR

PRmID VAR

A monetary case that pertains to a loan, can be decided
even by amateur judges who do not have n12»o, because
5192 N7 Han Rw

The o'non were lenient so that people should not refrain
from lending money to those in need, out of concern that
later on, the m>n», the lender, won't be able to locate primm
to take on his case, and he will lose his money.

DafHachaim.org

NP

'22 O72PT NI NIMD RIN

Asppnr o explains
DJpT NOHD 'ND
2D )PDM

Three judges are required give n>mp to a scholar.

127 D Mp
MDD T JTPD R MD 12
They give him the title of Rebbe,
and they give him permission

mYam mb
1PNPM Y2

All monetary cases that do not pertain to loans,
but also include mpap, penalties, require expert judges
who have nmp.

However,

MX1YM MXRTIN
1NN Y2 XY

A monetary case that pertains to a loan,
can be decided even by amateur judges
who do not have n>np,

Because

1% 2192 N7 M1YIN ROW

The pon were lenient so that people
should not refrain from lending money
to those in need, out of concern that later on,
the mbw, the lender, won't be able to locate pnom
to take on his case, and he will lose his money.
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